MIAMI-DADE COUNTY
PRODUCT CONTROL SECTION
11805 SW 26 Street, Room 208
DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786)315-2590 F (786) 315-2599

NOTICE OF ACCEPTANCE (N OA) _ www.miamidade.gov/e¢onomy

J.B. Garage Doors, Inc.
12195 NW 98™ Avenue
Hialeah Gardens, F1. 33018

ScorE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials. The
documentation submitted has been reviewed and accepted by Miami-Dade County RER-Product Control Section to be
used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction (AHJT).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control Section (In
Miami Dade County) andfor the AHJ (in areas other than Miami Dade County) reserve the right to have this product or
material tested for quality assurance purposes. If this product or material fails to perform in the accepted manner, the
manufacturer will incur the expense of such testing and the AHJ may immediately revoke, modify, or suspend the use of
such product or material within their jurisdiction. RER reserves the right to revoke this acceptance, if it is determined
by Miami-Dade County Product Control Section that this product or material fails to meet the requirements of the
applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
ncluding the High Velocity Hurricane Zone.
DESCRIPTION: Models 724/720 Steel Sectional Garage Door up to 16°-4” Wide x 22’ High

APPROVAL DOCUMENT: Drawing No. 08-08, titled “Steel Overhead Garage Door”, dated 06/26/2008,
with revision C dated 09/22/2014, sheets 1 through 4 of 4, prepared by Al-Farooq Corporation, signed and
sealed by Javad Ahmad, P.E., bearing the Miami-Dade County Product Control revision stamp with the
Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: A permanent label with the manufacturer’s name or logo, manufacturing address, model
number, the positive and negative design pressure rating, indicate impact rated if applicable, installation
instruction drawing reference number, approval number (NOA), the applicable test standards, and the
statement reading ‘Miami-Dade County Product Control Approved’ is to be located on the door’s side track, -
bottom angle, or inner surface of a panel.

LIMITATION: This door has not been tested for air infiltration.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change
in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product, for
sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section of
this NOA shall be cause for termination and removal of NOA,

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
e\plration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done
in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and
shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 13-1126.17 and consists of this page 1 and evidence pages E-1 and E-2, as well as
approval document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P E.

NOA No. 14-1014.10

Expiration Date: February 4, 2019
AppmvalDate December 24, 2014
Page 1

=| APPROVED.




J.B. Garage Doors, Inc,

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A, DRAWINGS
i. Drawing No. 08-08, titled “Steel Overhead Garage Door”, dated 06/26/2008, with
revision C dated 09/22/2014, sheets 1 through 4 of 4, prepared by Al-Farooq
Corporation, signed and sealed by Javad Ahmad, P.E.

B. TESTS “Submitted under NOA # 08-1107.03”
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Forced Entry Test, per FBC TAS 202-94
along with marked-up drawings and installation diagram of a Series 724 24 GA Steel
Sectional Commercial Garage Door, prepared by Hurricane Engineering & Testing,
Inc, Test Reports No. HETI-08-2154A, dated 07/25/2008, signed and sealed by
Candido F. Font, P.E. ‘
2, Test reports on 1) Large Missile Impact Test per FBC, TAS 201-94
2) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of Series 724 24 GA Steel
Sectional Commercial Garage Doors, prepared by Hurricane Engineering & Testing,
Inc, Test Reports No. HETI-08-2154B, dated 07/25/2008, signed and sealed by
Candido F. Font, P.E.
3. Test report on Tensile Test per ASTM E 8 of the above sectional garage door’s skin,
prepared by Hurricane Engineering & Testing, Inc, Test Report No. HETI-08-1142,
dated 07/25/2008, signed and sealed by Candido F. Font, P.E.

“Submitted under NOA # 99-1203.017

4, Test report on Salt Spray (Cotrosion) Test per ASTM B 117 of a painted G-40 steel
panels, prepared by Celotex Corporation, Test Report No. 258592, dated 08/17/1998,
signed by W. A. Jackson, P.E.

C. CALCULATIONS :
1. Anchor verification calculations prepared by Al-Farooq Corporation, dated
09/22/2014, signed and sealed by Javad Ahmad, P.E.

%f?& ffg& 1%

/

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 14-1014.10

Expiration Date: February 4, 2019
Approval Date: December 24, 2014




J.B. Garage Doors, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

CALCULATIONS (Cont.) “Submitted under NOA # 08-1107.03”

2. Anchor verification calculations and structural analysis prepared by Al-Farooq
Corporation, complying with F.B.C 2004/2007, dated 10/23/2008, signed and sealed
by Humayoun Farooq, P.E.

QUALITY ASSURANCE '

1. Miami-Dade Department of Regulatory and Economic Resources (RER)

MATERIAL CERTIFICATIONS

1.

Notice of Acceptance No. 14-0311.08, issued to Insulfoam, LLC, for their

Insulfoam Expanded Polystyrene Insulation, approved on 08/14/2014 and expiring on
11/29/2017.

Notice of Acceptance No. 11-0926.07, 1ssued to Dyplast Products, L.I.C, for their
Expanded Polystyrene Block Type Insulation, approved on 11/10/2011 and expiring
on 01/11/2017.

Notice of Acceptance No, 11—0926.06, issued to Dyplast Products, LLC, for their
Dyplast ISO-C1 Polyisocyanurate Insulation, approved on 11/10/2011 and expiring on
01/11/2017.

Notice of Acceptance No. 10-1129.04, issued to Cellofoam North America Inc, for

their Expanded Polystyrene Block Insulation, approved on 02/24/2011 and expiring on
02/2472016.

. STATEMENTS
1.

Statement letter of code conformance to 5™ edition (2014) FBC and no financial
interest issued by Al-Farooq Corporation, dated 09/22/2014, signed and sealed by
Javad Ahmad, P.E,

“Submitted under NOA # 12-0113.06”
Statement letter of code conformance to 2010 FBC and no financial interest issued by
Al-Farooq Corporation, dated 11/21/2011, signed and sealed by Javad Ahmad, P.E.

Weri=r

) ;Efgéfﬁﬁéé

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No, 14-1014.10

Expiration Date: February 4, 2019
Approval Date: December 24, 2014




7-1/2" X 3" X .120"
GALV. STEEL
END ROLLER HINGES

1/4" X 3/4" SELF DRILLING SCREWS

COTTER PIN

1/4" X 5/8" HEX BOLTS
WiTH LOCK NUTS

(NTERMEDIATE STILES FASTENEO TO
PANEL SKIN W/ (6) 3/16" ALUM POP RIVETS
AND TO TOP & BOTTOM RAIL W/ (4) 3/16" RVETS

(2) TOP ROLLER BRACKETS

4 PER HINGE '.i/ 4 PER HINGE SEE SHEET 3 FOR DETAIL
77 - -
- A
1/4" X 5/8" HEX BOLTS R Xy Ao X} Ex KX | 28]
WITH LOCK NUTS : — : : =]
= T . L = I ! o
4 PER HINGE ' A ] = [ L i ] — . +
AN =z
N e T T ‘ %—wﬁ i3
ATERNATE LOCK . ] | = AT - —J = S | { 5
. j SES e | *
\\\ B L b o Pt — 4.l - - " e B
~ 2 e = : % °
S ‘\ 1 B o — i — B —d . 1
RO NV ——— —a e Eq ' W
B R e g — W i —T. I — — T n
. [ — e R I I ) " <
| i I | [ . s |& rlg
L! — ’L; || — { — { §5 ,_ggz
3/4” W X 3/16" THK. — T—0 B 5lg *I5
\ LATCH s s o I + I . ab ol S . Iz %8
A ° ¥ e — T =] =1 — == {° Q
SPRING LOADED SLIDE BOLT LOCK (BOTH SIDES), A =i i - — B B T A gle o|”
FASTENED W/ (4) #14 X 5/8" SM.S. N A £ B ———= == === i 8l 3l2
5/8" MIN. LOCK ENGAGEMENT CONFORMS TO N ok L o — X! J Tee : S
FBC 1012 REGARDING GARAGE DOORS S s i [T L E—="D_ [ = i 1 L ~ 9 bi—:
~ |1 o |
~e PP il i = T 1 | T * I PRl e
SIS | . L — = = Ll == L &IE N
E:/i ﬁa]:——T/ i — T T T i T : é w
16 GA. GALY. STEEL MOUNTING o b 1t - —L = [ ——= | i
PLATE FASTENED W/ FOUR : . | [P Ty - — = . ’
4 10-24 X 1/2" CARRIAGE BOLT 3/4W X 3/16" THK. GALV. AL A o i — b P B i Ay
& LOCK NUT. STEEL LOCK BARS =G, = = 2 £ o— —%: 50
E:z..::—'—-_'=j ?—%% ;E—'} }‘a—.s —= = =1
SPIN  _r - INSIDE_ SPRING LATCH S — | = L[ | Ll i I — -
CYUINDER LOCK™” FASTENED W/ FOUR = T 1= TT—1 |6
/ #10 X 1/2" sSMs. - — — | — = | F :L_I? L . i dlg
" X ] [ T Tl il 2
DI&A ggfg \ L 1 L 4 . & o of ’
TEE — =
\Tﬁ‘w 7 ] I L] L] L] ; — el
o Y
32 11/18" 32 11/18" 32 11/16" 32 11/16" 32 11/16" 32 11/16"
.128 DIA. GALV. AIRCRAFT TYPE - 16'-4"
CABLE & MNICO-PRESS SLEEVE MAX. DOOR WIOTH = 16 -4

W/ MIN. 5 TO 1 SAFETY FACTOR

BOTTOM BRACKET | 117 X 4-1/2" X 0.1
STEEL PLATE WITH
(2) 1/4 X 5/8" HEX BOLTS W/ LOCK NUTS
END STILE (5) #14 X 5/8" SMS

CENTER STILE

OUTSIDE HANDLE

8T

LOCK BAR GUIDES
INSTALLED ON END STILE
WITH (4) #14 X 5/8" SMS

X .6W LOCK BAR

ENGAGES N TRACK
ON EACH SIOE OF DOOR

OUTSIDE KEYED LOCK

LOCK BAR LOCKING SHOWN
ALTERNATE TO LOCKS SHOWN ABOVE

L

4,

INSIDE ELEVATION

THIS PRODUCT IS RATED FOR LARGE MISSHE IMPACT

GENERAL_NOTES

THIS PRODUCT MAS BEEN DESIGNED, AND TESTED TO COMPLY WiTH THE
REQUIREMENTS OF THE FLORIDA BU!LDINLG CODE (FBC) FIFTH EOMON (2014)
INCLUDING HIGH VELOCITY HURRICANE ZONE (HVHZ).

ANCHORS SHALL BE AS LISTED, SPACED AS SHOWN ON DETALS.
ANCHOR EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL
DRESSING OR STUCCO.

ALL BOLTS, NUTS AND WASHERS SHALL BE ZINC PLATED CARBON STEEL.

ANCHORING OR LOADING CONDITIONS OTHER THAN THOSE SHOWN IN
THESE DETAILS ARE NOT PART OF THIS APPROVAL.

J.B. DOOR MODELS: 16'—4°W X 22'H MAX |
MODEL DESCRIPTION

724 24 GA. ROLL FORMED STEEL DOCR
720 20 GA. ROLL FORMED STEEL DOOR
NOTE: MODEL 724 TESTED.

MAXIMUM DESIGN LOAD RATING = + B87.0 PSF

(FOR SIZES SHOWN OR SMALLER} — 90.C PSF
Engr: JAVAD AHMAD PRODUCT REVISED
as complying with the Florida

Nia
iy
) €

GARAGE\08—-0848 )

FAX. (305) 26269

AL-FAROOQ CORPORATIO

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (305) 264-8100

|

1

HIALEAH GARDENS, FL. 33016

TEL. (305) 558 —~ 1858

J.B. GARAGE DOORS INC.
12195 N.W. 98 TH. AVE,

('STEEL OVERHEAD GARAGE DOOR

|

)

REV. PER BCCO COMMENTS

UPDATED TG 2010 FBC
UPDATED TO 2014 FBC

by [description

A |12.05.08
B [11.20.11

¢ [09.22.14

(revisions:
nol date

|

06-26-08

scale: NONE

date:

[=]
=
b
g‘

chk. by:

drawing no.

08-08

—_sheet 1of 4




1-3/8" X 6-3/16" X 2" X 18 GA. STEEL
FORMED END STILE

RIVETED 7O DOOR SKIN

WITH (8) 3/16" ALUM POP RIVETS
AND TO TOP AND BOTTOM RAILS
WITH (4) ALUM POP RIVETS

2-3/4" W % 20 GA. STEEL

FORMED CENTER STILE

RIVETED TO DOOR SKIN
— WITH (6) 3/16" ALUM POP RIVETS
AND TO TOP AND BOTTOM RAILS
WITH (4) ALUM POP RNVETS

[ ! I

2-3/4" W X 20 GA. STEEL

STEEL TRACK
12 GA. X 3-5/16" X 1-1/2"
FASTENED YO TRACK PLATES
W/ (2) 1/4-20 X 5/8"
CARRAGE BOLTS & LOCK NUT

ib

M -
0 ()
’%‘\
I L) I
DOUBLE ROLLER HINGES
COTTER PIN

INSTALLED ON ROLLER SHAFT

16 GA, GALV. STEEL
CENTER HINGE FASTENED WITH
(4) #14 X 3/4" HH SELF DRILLING SCREWS

SECTION B8-—B

f
C

GARAGE\08-08J8 )

a

FORMED CENTER STILE .4 @
RVETED TO DOOR SKIN O . o
WITH {6) 3/16" ALUM POP RIVETS - &
AND TO TOP AND BOTTOM RAILS = ‘é’ @
WITH (4) ALUM POP RWVETS é & &
o]
og ¢©
Lg
T
0L @
I~
Oz o
9
Cguvg
Oe<gd
QI-g g
g3 3 94
16 GA. GALV. STEEL et q
CENTER HINGE FASTENED WITH L3¥=¢8
(4) #14 X 5/8" HH SELF DRILLING SCREWS L5 35 e
<zNE ¢
\ f—
 ——
R
| -
SECTION D-D
&
Slo @
(] Z ;9}
Lk ey
oL
v 1 =
<(©Q WL
OO T . ©
=Y SR
@ i
Diw W
TN o
[l e 2
_ STOP MOULDING L :
AS REQD, Bl Z2L &
(D_ (3]
4l Tog B
2] P
— @ N% o
STEEL STRUCTURE 8Y OTHERS Ll e
W MUST SUPPORT THE LOADS IMPOSED j——————
BY DOOR SYSTEM e 4
j :
\ 2[5
1—14X25/8X14GA |22
CONT. STEEL ANGLE HEGIE
it
. SHEE
3 a.
12 GA CALV. STEEL FLAT al=(5|2
BRACKET + 3° LONG @ 6" 0.C. Seleie
CONNECTED TO CONT. ANGLE
w/ {3) 1/4" ¢ SPOT WELDS =
A NEIEE
by =] P
STEEL. ROLLERS Qllo g o g
2.7° DIA. X .72° STANDARD 201 |8
W/ .62 DA X 9-5/8" STEM ég <o )
[ S |
k]
Engr: JAVAD AHMAD PRODUCT REVISED & e
CIL as complying with the Florida TNEI 2
FLA. RE § 70592 Code AIENER
C.AN. 3538 . g, »
A
3)l8){s )5
[ G
drawing no.
sheet 20of 4




1-3/4" X 2" X 20 GA.

TOP RAIL

RIVETED TO DOOR SKIN

W/ 3/16” ALUM POP RIVETS
AT 2" & 20" FROM EACH END
AND 42" 0.C. TYPICAL SPACING

GLUED TO TOP RAIL

AND RIVETED TO VERTICAL STILES
W/ (2) 3/16" ALUM POP RIVETS
AT TOP AND BOTTOM

OF EACH SECTION

3/4" X 27 X .050" THICK
ALUM STIFFENER /

20 GA, ROLL FORMED
STEEL BOTTOM RAIL

PANELS FASTENED TO
HORIZ. RAILS WITH

3/1687 ALUMINUM POP RVETS—

AT 2% & 18" FROM £ACH END
AND 28" 0.C. TYPICAL SPACING

OPTIGNAL DOOR SKIN FOR DQORS
WITH INSULATION ONLY
MIN. 24 GA ROLL FORMED STEEL

ASTM 653. SQ QUAUTY, GRADE 50

MIN, YIELD STRENGTH = 5¢ KSI
GALVANIZED ACCORDING TO ASTM A525
WITH A COATING DESIGNATION OF G90.

EXTERICR AND INTERIOR.

3/4" X 2" X .050" THICK

ALUM STIFFENER

GLUED TO TOP RAIL

AND RIVETED TO VERTICAL STILES
WITH (2) 3/16" ALUM POP RIVETS

7/8" VINYL GASKET

BETWEEN BBTTOM RAIL
AND PANEL SKIN\

1-3/4" X 2" X 20 GA.
BOTTOM RAIL

RIVETED TO DOOR SKIN

W/ 3/16" ALUM POP RIVETS
AT 2" & 16" FROM EACH END
AND 28" 0.C. TYPICAL SPACING

|

: © PANEL & VERT. STILES _d.
‘ OPTIONAL INSULATIONS:
1 BY 'DYPLAST PRODUCTS LLC'

ASTM 653. SQ QUALAY, GRADE 50

14 GA. GALV. STEEL ADJUSTABLE
SUDE FASTENED TO ERACKEI'
\'l'é( ) 5/16—18 ~

LTS WITH LOC NUTS FASTENED TO INTERMEDIATE

AND TO END STILE
WITH SIX f14 X 3/4 TEKS
TYPICAL

12 GA. GALV. STEEL

TOP ROLLER BRACKET (DOUBLE)
FASTENED W/ (6) 1/4 X 5/8
HEX BOLTS WITH LOCK NUTS -

-

3/16" @ ALUMINUM POP RIVETS

Y "DYPLAST PR
EPS—EXPANDED POLYSTYRENE
DENSITY = 1.05 PCF !
N.O.A. #11-0926.07
OR

1S0—25 POLY—|SOCYANURATE
DENSITY = 2.0 PCF
N.O.A. #11-0926.06
OR 1z

F
DENSITY = 1.03 PCF .
N.OA. #10-1129.04
OR

BY INSULFOAM LLC
DENSITY = 0.92 PCF
N.O.A. #14-0311.08

REINFORCING TRUSS AT

1% GA. GALY. STEEL +2" FROM BOTTOM OF SECTION

ROLLER HINGES FASTENED
w/ (4) 1/4-20 X 5/8" HEX HEAD
M.S. & LOCK NUTS

TWO PIECES DQUBLE PANELS
MIN. 24 GA ROLL FORMED STEEL

BOTTOM SEAL

058 ALUM PLATE
WITH 1/8" X 17
AND TUBULAR RUBBER W'STRIPPING

1ST SECTION (BOTTOM)

REINFORCING

MIN, YIELD STRENGTH = 50 KSI
GALVANIZED ACCORDING TO ASTM AS25
WiTH A COATING DESIGNATION OF G90.
EXTERIOR AND INTERICR,

11 GA. GALY. STEEL
BOTTOM BRACKET
FASTENED WiTH

(2) 1/4 %X 5/8" HEX BOLTS W/ LOCK NUTS
(5) #14 X 5/8" SMS

SEE SECTIONS AT RIGHT. FOR LOCATION OF REINFORCING TRUSSES

REINFORCING TRUSS AT 2" FROM TOF OF SECTION
16 GA. X 2-1/4" X 2" GALV. STEEL U.BAR

VERTICAL STILES W/ ™O #14 X 3/4" TEKS

SM.S. @ 48" O.C.

]

ALL INTERMEDIATE SECTIONS

REINFORCING

T

INT

L

REINFORCENG TRUSS AT
" FROM BOTTOM OF SECTICN

REINFORCING TRUSS AT
1t”

FROM BOTTOM OF SECTION

JOP SECTION
REINFORCING
Enqr: JAVAMU LAHMAD PRODUCT REVISED
i complying with the Florida

. 3
Mianm Dadc( Product Corrtrot

GARAGENO8—~08JB )

FAX. (305) 2626978

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

:

1235 S.W. ST AVE
MIAMI, FLORIDA 331.74
TEL. (305) 264-8100

|

INC.

GARAGE DOORS
HIALEAH GARDENS, FL. 33016

12185 N.W. 88 TH. AVE.
TEL. (305) 558 — 1658

J.B.

(STEEL OVERHEAD GARAGE DOOR

|

)

REV. PER BCCO COMMENTS
NG CHANGE THIS SHEET

UPDATED TO 2014 FBC

by Tdescription

(revisions:
ol date
A [12.09.08
B [11.21.11
¢ [09.22.14]

|

06—-26—08

scale: NONE

=]
=
=
I
&
iy
)

date:

chk. by:

| R |

08—08

sheet 3of 4




g . ) ’ﬂ?
CENTER HANGERS REQUIRED ., . U @
FOR DOORS HIGHER THAN 8 FT. —-1/4 4" % 12 GA, q‘ o
STEEL ANGLE H GER & SWAY m T
BRACE FASTENED TO TRACK ‘ J| o
W/ 5/16— 18 M SCREWS & NUTS 2
2 AND TO BLDG. STRUCTURE 4 & flta
£ W/ 5/16 LAG SCREWS OR BOLTS yite]
o L] | o g2
S w S
© H ] o )
N | 3 8
EE ° 3? ! 7 o E ~
R /] A= | 2X2X1/8" 7 o %
2 " HORIZ. ANGLE k % o W
i HORIZ. TRACK LENGTH = OPENING HEIGHT PLUS 2 SPOT WELDED TO HORIZ. TRACK % % (o) S o
o AT 2-5/8" IN. 0.C. = :-T 0 3 5
m
i 0
4P
2~5/8" X 1-1/4" GALV. CONT. STEEL ANGLE 14 GA. 03 52 g
0
o — KL .o«
A <3 5
LEn.:c
] JOINT BRACKET kZnE 8
[ 6" X 2-1/2" X .10° THK. VERTICAL TRACK -Z0g
o ATTACHED 1O VERT. & HORIZ. TRACK SECTION A—A <59 #
W/ (4) 1/4-20 X 5/8° CARRIAGE BOLT & NuT L
| G —
AND TO VERT ANGLE W/ (3) SPOT WELDS L —
d . \' L1/ L1 ,.J
(@]
c| &% ALV, STEEL TRACK VERTICAL LIFT HIGH LIFT  STANDARD LIFT LOW HEADRQOM
= (e} — [l
H glw [ AVAILABLE TRACK OPTIONS Sl . o
o 2§ S12 g
< < - M
é = % & W™
© Zé = N é o z_i
=, <O L
0|2 © 8 Em B
| A ©
]: 2-1/2" X 3-7/8" X 0,1" STEEL PLATES 3 o~
i CONNECTED TO TRACK WITH TWO Wan g
1/4-20 X 5/8 CARRIAGE BOLT & NUT = g E
Wil 26 8
A BlLZ L o
(U] 0 3
ol . 0@, 2
i ] — STEEL STRUCTURE BY OTHERS RIM <
i MUST SUPPORT THE LOADS IMPOSED N2 1 M
BY DOOR SYSTEM ANCHOR SPACING )
g CK.AS VIEWED 1/2" HLCN;E?g?s 8Y 'HILT’ ST%%?:?RE 1EH1B/E§" sm:;cimc ED?.GEUD);%T' Y )
FROM CENTER OF OPENING = e : —% : —=
OM CENTER OF OPENI 3/8" CONFLEX BY ELCO°  |CONC./FILLED BLOCK| 2 6 3-3/4 o
5/16" DIA. BOLTS 3/8 POWER—BOLT BY 'POWERS' CONC. 2" 6 2-1/2° Zlale
AT 67 0.C. MAX 1/2" SIEEVE-ALL BY SIMPSONS' CONC. -1/ 6 4—1/7" z|d|
Lo HAR. EDGE DIST. 3l& ("
. CONCRETE f'c = 3000 PSt MIN. el2ls
i \ / - . C-90 GROUT FILLED BLOCK f'm = 2000 PS] MIN. HEIEN
\e N D (8]
| o
” oo |x E
DOOR | NO. OF SECTION HEIGHTS * ’ 1-1/2" 4" X 2-5/8" X .076" THK— | 1-1/2" ul. S5
HEIGHT [TRUSSES| 1ST|2ND|3RD[4TH [5TH|6TH [7TH [8TH|9TH } OTH) 1TH MIN. N{ STEEL ANGLE I<'—‘>M,N‘ SEELS
7-0" | 16 1217|217 [217 217 |N/AIN/AN/A N/AN/AN/A IN/A 0.10" THK, GALV. STEEL FLAT BRACKET —] 2
8'-0" | 16 |247[247|24"|24” IN/AIN/AN/A IN/AN/AN/A N/A T LN o PG Y
9°-0" | 20 [2471217 217217 |21 |N/A N/A N/AIN/AN/A N/A AT 18 O.C. ABOVE OPNG. ?;EgiTiAgEs/za” X 1-1/2" Sl a|5 |8
16'—0" 20 24%124" | 24" 247 [ 24" N/Ai‘N/A N/AIN/A N/A IN/A CONNEGCTED TO CONT. ANGLE /et FASTENED TO TRACK PLATES g IR
11'=0" | 24 [247]24" 217 (217|217 217 N/A N/AN/AN/A N/A W/ (3) SPOT WELDS w/ (2) 1/4-20 X 5/8" |8l <[alo
12°=0" | 24 247|247 [247|247 [24"[247 N/A N/AN/AN/A IN/A TRACK INS TION CARRIAGE BOLT & LOCK NUT LEA )
13—0" | 28 [247[24" {247 |217 217|217 1217 NJAIN/AN/AIN/A ;—“‘m
14'-0" | 28 [247]247 2471247 | 247|247 24" N/AN/AN/AN/A Erigr: JAYAD AHMAD : =
15-0" | 32 [24%[24% 24" 247 [21%[217[217 217 [N/AN/AIN/A L PRODUCT REVISED Syl z
i6'-0" 32 24:. 24:: 24n 24~ 247247 247 |247 N/A.N/A :N/A m&mﬂﬁmida 8 % é .
170" | 36 247247 [247|24" [247[ 217|217 |27 21" N/A N/A Awemreof‘-"- ek sl 502
18'-0" | 36 |247|247 247|247 [247 (247|247 [247[ 24" N/AN/A 77 hs |8l lE
19'-0" | 40 |247[247 247247 247|247 |217 [217]21" 21" N/A 6 I P e rm—
' n ] 3 [ () ) ] B " CR Y ¥ frouig s A
20'-0"| 40 |247|247 |24 |24" |24"| 24" |24" |24° 24" |24 N/A Misml ode Produe Comtrol drawing no.
21-0" | 44 [247|247 247 (247|247 (247 24" [21%[21"|217 | 217 08—08
22'-0" | 44 |247[247 |247 (247|247 (247|247 |24°| 247 |24" | 24"
*—SECTIONS ARE NUMBERED STARTING AT THE BOTTOM sheet 4of 4




